Review Exercise 1
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assocnatlve property of real numbers w.r.t addition
and multiplication.
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4. Is 0 a rational number? Explain.
Yes, zero (0) is a rational number. It satisfies the

. . 0 o
definition of rational numbers. For example, > 75
both are rational numbers.

5. State trichotomy property of real numbers.
Vab€eR,eithera=bora>bora<b

6. Find two rational numbers between 4 and 5.
15¢ rational number = (4 +5) + 2
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8. The sum of three consecutive odd integers is 51.
Find the three integers.
Let first integer = x
Second integer = x + 2
Third integer = x + 4
According to question
x+x+2+x+4=>51

3x+6 =51
3x=51-6

3x =45

45

X=3

x =15

Hence
First integer = x = 15
Second integer =x+2=15+2 =17
Third integer =x+4=15+4 =19

9. Abdullah picked up 96 balls and placed them into
two buckets. One bucket has twenty-eight more
balls than the other bucket. How many balls were

1
Rate = 7Z %

=7.25%

Time = 2 years
Principal Amount X time X rate

Profit = 100
p — 350000 x 2 x 7.25
1 100
P; = 50750 Rs.

For Next 5 years:
Principal Amount = 350000 Rs
Rate = 8%
Time = 2 years

. Principal Amount X time X rate
Profit = 100

P _ 350000 x 2 x 8
2= 100
P, = 140000 Rs.

At end of 7 years:
Total Amount = Principal Amount + P; + P,
= 350000 + 50750 + 140000
= 540750 Rs.

Mihammad.Tayyab (GHS Christian Daska)

Balls in scond bucket = x + 28
Total balls = 96
According to question
x+x+4+28=96

2x + 28 =96
2x =96 — 28

2x = 68

68

=7

x =34

Hence
Balls in first bucket = x = 34
Balls in scond bucket = x + 28
=34+ 28
=62

10. Salma invested Rs. 3,50,000 in a bank, which
paid simple profit at the rate of 7% % per annum.

After 2 years, the rate was increased to 8 % per
annum. Find the amount she had at the end of 7
years.
For first 2 years:

Principal Amount = 350000 Rs
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